
WIATA NEVADA II
615 x 606 cm

UWAGA!! 
Przed rozpoczęciem pracy należy szczegółowo

zapoznać się z instrukcją. 

PRZYDATNE NARZĘDZIA



B B

2 190821

1998 140 1998

6066

2138 2138

4275

54
04

6890

158

1998 1998

4415

55
44

7087



B-B ( 1 : 60 )

3 190821

1234

1949

34
05

29
29

306

6156

100
1372 1430 1422 1307

36 44 36 36 44

12

18

23
32



LISTA CZ CI
NR CZ CIILOELEMENT

kant wka 140x140x2330a21
kant wka 140x140x2330b42
kant wka 22x80x297685
kant wka 23x57x247646
kant wka 23x35x2476 47
kant wka 23x57x247648
kant wka 23x57x247649
kant wka 56x95x4460 + kant wka 56x95x15282210
kant wka 80x160x6000211
uk 36x380x6000Rw5800312
uk 38x120x1838Rw1090213
uk 44x380x6000Rw5800214
uk 80x120x1583Rw1090215

4 190821

2

1

2

5

11 15

13

12

14

12

12

14

5

10

9

7

8
6

7
8

8

6

6

8

9

7

6

9

9

7

. ( 1 : 15 )



.

5 190821

FRONT

10

2

1

2

2

1

2

2

1

2

2

1

2

M10x160 2szt.

M12x280

12

5x90 3szt.

11

11

13

13

1460

1460

M8x150 4szt.

. (



M14x160 2szt.

16x160 3szt.

14

140x140

 

.

6 190821

8

14

14
M8x55 16szt.

12

12

12

5x45 4szt.

5x90 8szt.

60x200

5x45 4szt

5x90 8szt.

14

14

1 : 10 )



Y ( 1 : 15 )

Y

.

7 

8x140 5szt. 10

10

5
5

5
5

4x60 4SZT.

4x60 4SZT.

6
7


